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401 Al EHIZ LY 200,000 0 200,000
& 100,000
Al 100,000
01 Al&Hl 198,560 0 198,560
O oHIZE(HA) JI8t AIZSAt
200,000,000& = 99.28/100 198,560
= 100,000
Al 98,560
03 Al&=0Hdl 1,440 0 1,440
O HYEIZE(BIE) IIEH AIESAE
200,000,000& * 0.72/100 1,440
SOt g2 HE A 600,000 0 600,000
2 300,000
Al 300,000
401 AlZHIZL LY 600,000 0 600,000
= 300,000
Al 300,000
01 AlZHI 596,220 0 596,220
O Hot: NHEEE HEAS
600,000,000& * 99.37/100 596,220
2 300,000
Al 296,220
03 AlE=0HHI 3,780 0 3,780
O HOtE NAELZ IHEAS
600,000,000& * 0.63/100 3,780
2Z2M HO AL =E 121,120 168,595 AN4T 475
= 35,000
Al 86,120
SHZOHN EXIE FHI 10,000 10,000 0
401 AlZHIZ SO 10,000 10,000 0
01 AlZHI 10,000 10,000 0
O 2ot EXE sX2el
1,000,000& = 109424 10,000




2A:
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ni;
A One
oM

23
Hm: 2
SRl BT BOAL HE (S &)
- _ - &4
SA - R(B) - MRAY - BES Ofl &t 24 St HIBE2
SHZHIANEE RA2 39,520 49,69 210,175
201 et 15,500 17,508 A2,008
02 S3=23Hl 15,500 17,508 A2,008
O 3323 % WAl 6,500
o HBHIANEE HIIRS S 3322
6,500,000& * 14 6,500
O AME3HI=A 9,000
o NG BEAZA 22FH2ANE ISR
9 9,000,000& = 14 9,000
202 O4Hl 2,520 2,187 333
01 =LHNbI 2,520 2,187 333
O 2FAd= A0 GHE & B8
20,0002 * 2& » 72 = 10& * 90% 2,520
401 AlZHIZL SO 21,500 30,000 28,500
01 AlZHI 21,500 30,000 28,500
O 328 RAE> 300,000 * 5424 1,500
O OFdstEXl RAIE= 15,000,000& * 14 15,000
O JIEt AId= |XI2%  5,000,000& * 14 5,000
lgtArY =& 71,600 108,900 237,300
= 35,000
Al 36,600
202 OH| 1,600 900 700
01 =L 1,600 900 700
O oIg - B4 AREH
20,0003 = 2& = 40« 1,600
402 22tH=01H 70,000 104,000 234,000
T 35,000
Al 35,000
01 eIt 22x 70,000 104,000 234,000
O 218 i - At 10,000,000& * 7IH2 70,000
= 35,000
Al 35,000
HHE2IZH (2Z ) 247,693 264,874 A17,181
H=2494l 32,275 30,291 1,984
elsE2a 32,275 30,291 1,984
101 Q124 32,275 30,291 1,984
02 JIEtAE = 1,903 1,903 0
O BABE AAA2RLY ZDE
6,3428 » 18 = 26A12F » 12 1,903
03 RIHAZZNE S 30,372 28,388 1,984
O AZt2l2e=d z0= 9,112
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